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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
@~ wifl eeas T wis ¢

1)  Translate the following into standard form

categorical proposition:

Almost all students were present at the

playground.
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i1)  Under which condition a proposition 'P=Q'

become false?
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iii)

Vi)

vii)
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What do you mean by 'Existential Import' of a

proposition?

AR ST Slesi Fe70 [ (A1 2
Draw a Venn Diagram of the proposition—

'Ghost do not exist'.
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Express the following, using individual

variables and quantifiers:

Guavas and Pomegranates are delicious

and nutritious.
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Why is 'FELAPTON' not regarded as valid by

the modern legicians?
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What is meant by the exclusive sense of the

word 'or'? Give examples.
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viii) If 'p D q' is false and the truth-value of 'r' and

X1)

xii)
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's' are not known, determine the truth-value of
~(p>q)=(s>~q)
T 'p O q" MY e GRS 's'- 97 TP el
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Give the contraposition of 'O' proposition.
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Give the schematic form and example of the
Method of Agreement.

TR TR ACH P SR € qBE 7S |
What do you mean by the Principle of

Uniformity of nature in causal relation?
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Use truth-table to determine the statement
form as tautologous, self-contradictory or

contingent

PO (PDP)
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xiii) In the inference of Opposition of

X1V)

Propositions, if 'All Socialists are Pacifists'

is true, what will be the truth-value of—

'"No Pacifists are non-Socialists'?
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In tossing two coins what is the probability of

getting either two heads or two tails?

il @lc {01 i (2T w1 {6 (Gef #A1e
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xv) What is Adhoc Hypothesis?
AR (IR &5 FICF e 2
2. Answer any four questions: 5%x4=20
@I B o Ted wie ¢
1)  Use truth-table to test the validity of the
following arguments: 21x2=5
TP AR Wva Ifewfr @arel Fda a2
a)  (pva)>~(p-q)
~(p+q)/ - ~(p+q)
b) (M>DN)e[(MsN)DO]
M>(0>5P)/~.M>DP
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Test the validity of the following using Venn
diagram: 23 x2=5
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a)  This syllogism is valid, because like all

valid syllogism it also has three terms.
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b)  A00-2.

111) a)  Prove the invalidity of the following by
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assigning truth-values: 3
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(x)(PX D~ QX)

(x)(Px D~ RX)

(x)(RX D~ QX)

b)  Express the following sentence by using
individual variables, quantifiers,

propositional functions etc: 1x2=2
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A) Notall people who are wealthy are
both educated and cultured.
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Vi)
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B) Aboywinsifand only ifhe is lucky.
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Distinguish between traditional logicians and
modern logicians regarding opposition of

propositions. 5
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Explain the five criteria in judging the worth

of any hypothesis. 5
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State in brief, the criteria for appraising an

Analogical Argument. 5
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3. Answer any two questions: 10x2=20
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i)
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Construct formal proof of validity (any two):
5x2=10

SR (FKe] e 91 (@I 75) ¢
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b)

b)
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P> (Q+R)
(QvR)>8/.-.PDS

Rabindranath was a great poet. So, either

Rabindranath was happily married or not.
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Construct formal proof of validity:
5x1=5

FRTS (@l (TANS ¢

(x)(Bx D Cx)
(X)I:(BX'CX) D Dx:|
(x)[Bx D (CX'DX)]

Prove the invalidity of the following
using suggested notation: 5x1=5
e gfeia sitaare! a5t 1 (e ersie
JRRE ) ¢

Some politicians are leaders. Some

leaders are not honest. So, some honest
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men are not politicians. (Px, Lx, Hx)
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ii1) Explain Mill's Method of Difference.

1v)
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Determine the probability:

5x2=10

TSt fefa 9

a)

b)

What is the probability of having total

'Seven' (7) in throwing two dice?
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In drawing three cards in succession
from a standard deck, what is the
probability of getting at least one spade
if each card is replaced before making

the next drawing?
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